L»(32).5 (mod 31)
blocks | defect matrix
G: 1 1 13 x 10
2 0 311 = Xx2,0, ¥2,0
3 0 31y = x2,1,p2,1
4 _ 0 313 = X2,2, P2,2
5=4 0 3Ly = x2,3, 92,3
6 = 3 0 315 = X2,4, (,0274
7 0 1551 = X3+, P3+
8 0 1552 = X8+, Ps+
9 0 1553 = X134+, P13+
Block 1: | v10 @11 Y12 91,3 ©14 P80 ©181 Y182 ©18,3 Y184
11 =x1,0 1 .
lo =x11 1 .
13 = x1,2 1 .
ly=x13 1 .
Is = Xx1,4 1 )
321 = x18,0 1 .
322 = x18,1 1 .
323 = X182 1 .

324 = X183 1 .
325 = X18,4 . . . . . . . 1
165, =y | 1 1 1 1 1 1 1 1 1 1
1659 = X244+ 1 1 1 1 1 1 1 1 1 1
1655 =xo9s | 1 1 1 1 1 1 1 1 1 1
Y10 = 1Lt p18,0 = 321
v11 = 1g Y181 = 322
p12 = 13 P12 = 323
p13 = 1y p183 = 324
p14 = 15 P84 = 325



